Installation manual

Montageanleitung e Notice de montage e Istruzioni per il montaggio ¢ Manual de montaje ® Monteringsanvisning e
Installatiegids e Montazni navod e Asennusohje e Installationsmanual e Instrukcja instalacji ® Paigaldusjuhend

Log cabin FR70-5353

Blockhaus e Maisonnette en poutres e Casa di travi @ Casa de jardin e Anneks e Tuinhuis e Zahradni domek e
Timmerstuga e Hirsimdkki e Dom z bali @ Freesprussmaja

Width 530 x Depth 530 cm

Breite/Tiefe e Largeur/Profondeur e Lunghezza/Profondita ¢ Ancho/Profundidad e Bredde/Dybde e Breedte/Diepte
e Sifka/Hloubka e Leveys/Pituus e Bredd/Langd e Szerokos$¢/Glebokos¢ e Laius/pikkus

Log thickness 70 mm
Bohlenstéarke e Epaisseur des murs e Spessore delle pareti @ Grosor de pared e Tykkelse ® Wanddikte e Tloustka
stény e Seinan paksuus e Vaggtjocklek ® Grubos¢ scian e Seinapaksus

The producer shall have the right to make technical changes to the product e Technische Anderungen vorbehalten e Le
producteur réserve le droit d’effectuer des modifications techniques au produit e Il produttore mantiene il diritto di apportare
modifiche tecniche al prodotto e Reservado el derecho a modificaciones técnicas e Produsent forbeholder seg retten til & endre
tekniske egenskaper ved produktet e Alle rechten en technische wijzigingen voorbehouden e Vyrobce si vyhrazuje pravo na
technické zmény vyrobku e Valmistaja pidattaa oikeuden tehda tuotteeseen teknisia muutoksia e Tillverkaren har rétt att utfora
tekniska forandringar for produkten e Producent zastrzega sobie prawo do dokonywania zmian technicznych produktu e Tootja
jatab endale diguse muuta toote tehnilisi omadusi



» SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Profile Lengfh
0S Pcs
FR70-5353 (mm) (mm)
001 T 2 . 1| 70x68 | 5300
002 I - 0 16| 70x135 | 5300
009 . il L 2 | 70x68 | 1840
010 | - 0 12| T0x135 | 18L0
01 T 16 | T0x135 | LTS
012 — 16 70x135 L75
013 o - N 19| 70135 | 5300
016 | - 1 151 70x135 | 2000
015 — = Tl 70x35 | 2430
016 S - ] 2 | 70x135 | 660
017 | g« - ! - | 1| T3 | 6700
018 — - ] 1] 70x135 | 5730
9 | g ¢ — . 2 | 1| T3S | 6700
008
007
. \ / 006
W1-1 ® / 005 1
\ / 004
—_T_ - - T 003
5300
008
007
= \ / 006
W2-1 *® / 005 1
\ / 004
—r - - . 003
5300
Foundation- Fundament- Fendation- Fondazione- Vigas de cimentacion
AR? . ) i 60x60 5080
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentacion
Slat- Leiste- Baguette- Listello- Listan
Slaf . . 1 19%70 1620
Purlin- Dachpfette- Arbalétrier- Arcareccio- Correa
PR L H e ioj Lo|o60x200 | 6700
Purlin- Dachpfette- Arbalétrier- Arcareccio- Correa
R el = ioj 1] 60x200 | 6700
FR9_1 E{er?; board- Fussbodenbreft- Madrier du plancher - Tavola pavimento- Tabls de - 8919 1955
RB2-1 | Roof board- Dachbrett- Madrier du toif- Tavola tetto- Tabla de tejado eo—r— | 152 8919 3150
Dia-1 | Diamond- Deckbreft- Madrier- Tavola di copertura- Rombo s 19x140 300

£ - | Object name FR70-5353 Page 1/4



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
1/4

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
1

AutoCAD SHX Text
70x68

AutoCAD SHX Text
5300

AutoCAD SHX Text
100

AutoCAD SHX Text
4960

AutoCAD SHX Text
100

AutoCAD SHX Text
002

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5300

AutoCAD SHX Text
100

AutoCAD SHX Text
4960

AutoCAD SHX Text
100

AutoCAD SHX Text
009

AutoCAD SHX Text
2

AutoCAD SHX Text
70x68

AutoCAD SHX Text
1840

AutoCAD SHX Text
1670

AutoCAD SHX Text
100

AutoCAD SHX Text
010

AutoCAD SHX Text
12

AutoCAD SHX Text
70x135

AutoCAD SHX Text
1840

AutoCAD SHX Text
1670

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
475

AutoCAD SHX Text
100

AutoCAD SHX Text
305

AutoCAD SHX Text
012

AutoCAD SHX Text
16

AutoCAD SHX Text
70x135

AutoCAD SHX Text
475

AutoCAD SHX Text
013

AutoCAD SHX Text
19

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5300

AutoCAD SHX Text
100

AutoCAD SHX Text
4960

AutoCAD SHX Text
100

AutoCAD SHX Text
014

AutoCAD SHX Text
15

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2000

AutoCAD SHX Text
1830

AutoCAD SHX Text
100

AutoCAD SHX Text
015

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
2430

AutoCAD SHX Text
530

AutoCAD SHX Text
1830

AutoCAD SHX Text
016

AutoCAD SHX Text
2

AutoCAD SHX Text
70x135

AutoCAD SHX Text
6160

AutoCAD SHX Text
960

AutoCAD SHX Text
4960

AutoCAD SHX Text
100

AutoCAD SHX Text
017

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
6700

AutoCAD SHX Text
1400

AutoCAD SHX Text
4960

AutoCAD SHX Text
200

AutoCAD SHX Text
018

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
5730

AutoCAD SHX Text
530

AutoCAD SHX Text
4960

AutoCAD SHX Text
100

AutoCAD SHX Text
019

AutoCAD SHX Text
1

AutoCAD SHX Text
70x135

AutoCAD SHX Text
6700

AutoCAD SHX Text
1400

AutoCAD SHX Text
4960

AutoCAD SHX Text
200

AutoCAD SHX Text
W1-1

AutoCAD SHX Text
1

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
5300

AutoCAD SHX Text
801

AutoCAD SHX Text
W2-1

AutoCAD SHX Text
1

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
008

AutoCAD SHX Text
5300

AutoCAD SHX Text
801

AutoCAD SHX Text
AR2

AutoCAD SHX Text
2

AutoCAD SHX Text
80x60

AutoCAD SHX Text
5080

AutoCAD SHX Text
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentación

AutoCAD SHX Text
AR1

AutoCAD SHX Text
8

AutoCAD SHX Text
80x60

AutoCAD SHX Text
4920

AutoCAD SHX Text
Foundation- Fundament- Fondation- Fondazione- Vigas de cimentación

AutoCAD SHX Text
Sla1

AutoCAD SHX Text
1

AutoCAD SHX Text
19x70

AutoCAD SHX Text
1620

AutoCAD SHX Text
Slat- Leiste- Baguette- Listello- Listón

AutoCAD SHX Text
PR1

AutoCAD SHX Text
4

AutoCAD SHX Text
60x200

AutoCAD SHX Text
6700

AutoCAD SHX Text
Purlin- Dachpfette- Arbalétrier- Arcareccio- Correa

AutoCAD SHX Text
1400

AutoCAD SHX Text
4960

AutoCAD SHX Text
200

AutoCAD SHX Text
PR2

AutoCAD SHX Text
1

AutoCAD SHX Text
60x200

AutoCAD SHX Text
6700

AutoCAD SHX Text
Purlin- Dachpfette- Arbalétrier- Arcareccio- Correa

AutoCAD SHX Text
1400

AutoCAD SHX Text
4960

AutoCAD SHX Text
200

AutoCAD SHX Text
FB2-1

AutoCAD SHX Text
Floor board- Fussbodenbrett- Madrier du plancher - Tavola pavimento- Tabla de

AutoCAD SHX Text
suelo

AutoCAD SHX Text
56

AutoCAD SHX Text
89x19

AutoCAD SHX Text
4955

AutoCAD SHX Text
RB2-1

AutoCAD SHX Text
Roof board- Dachbrett- Madrier du toit- Tavola tetto- Tabla de tejado

AutoCAD SHX Text
152

AutoCAD SHX Text
89x19

AutoCAD SHX Text
3150

AutoCAD SHX Text
Dia-1

AutoCAD SHX Text
Diamond- Deckbrett- Madrier- Tavola di copertura- Rombo

AutoCAD SHX Text
2

AutoCAD SHX Text
19x140

AutoCAD SHX Text
300


Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Pes Profile | Lengfh
FR70-5353 (mm) (mm)
Eave edging- Dachrandbreff- Madrier en bordure du toif- Tavola bordo S
ST Fotro- Tabla de valadizo == | 16x95 30
4| Facia board wavy-Giebelblende.geschwun- gen—Ecran /
rabd- frontal.arque-Schermo frontone.curvo- Tabla de facia ondulada " 1ox120 0
F4B3-1 ]Eaa(t:s board- Giebelblende- Ecran frontal- Schermo frontone- Tabla de % L 16x120 3190
FIB2-1 Floqr beading_— F/ussbodenleme— Baguefte du plancher- Listello 2z | 3 19419 2478
pavimenfo- Listan de suelo
Roof edge reinforcemenf- Dachrandleiste- Baguefte en bordure du foif-
REZ-1| Rinforzo bordo tetfo- Refuerzo borde fejado ag) | 1| ko | 200
Roof edge reinforcement- Dachrandleiste- Baguefte en bordure du foit-
REZ-Z | Rinforze bordo tefto- Refuerzo borde fejado dg) | 1| ko | 3000
SRR Egdrzslaf— Randleiste- Baguette en bordure- Liston de borde- Listello = | |, 19570 86
Sict7 Egdrzslaf— Randleiste- Baguefte en bordure- Liston de borde- Listello ——= | ¢ 19570 1072
SEE Egdrzslaf— Randleiste- Baguette en bordure- Liston de borde- Listello ) 19570 125,
SR Egdr%;laf— Randleiste- Baguette en bordure- Liston de borde- Listello = | | 19495 986
SR Egdr%;laf— Randleiste- Baguette en bordure- Liston de borde- Listello = | y 19495 139,
Fim -Fixing kit- Befestigungssef- Moyens de fixation- Materiale di fissaggio- | USE
Kit de fijacion
QULSI | Cylinder- Zylinderschloss- Serrure 3 morfaiser- Serrafura a cilindro- | TUT0-2P
30x35 | Bombin- 30.35
QLIU | Door fitfings- Turbeschlag- Ferrure- Ferramenta porta- Manilla puerfa- | TUT0-2P
KAPal | QLIUKAPal
AT | Keeper- Schliessblech- Tole- Lamiera- Aldaba de candado- 160Zn == | 1 TUT0-2P
ANAT . .
Lyl (e | Nail- Nagel- Clou- Chiodo- Clavo- 1.Lx40mm — | 4 FIB2-1
ANA2 . .
2x507n | Nail- Nagel- Clou- Chiodo- Clavo- 25x50mm {1200 FB2-1, RB2-1
QERFP3 | Serew- Schraube- Vis- Vite- Tornillo- 3.5x40mn p—— | 130|  Faf, FaB,RE..
4ERER || Screw- Schraube- Vis- Vite- Tornillo- 3xt6m - 2
QKRPP SR : AT0-1P; AT0-1V,
33207n | SCrew- Schraube- Vis- Vite- Tornillo- 3x20mm = 36 TAT0-2P; TUT0-2P
UEREE | Screw- Schraube- Vis- Vite- Tornillo- 4 5x50mm P | 200 Sis-x
QRREPH | Serew- Schraube- Vis- Vite- Tornillo- 4 5x70mm P | 20 | 001; 009; 017, 019; PR
JRRP | Screw- Schraube- Vis- Vite- Tornillo- 5x90mn s L TUT0-2P
%ggzpnf) Screw- Schraube- Vis- Vite- Tornillo- 6x120mm = 16 ARx
auip | Window fittings- Fenstergriff- Poigne de la fenéfre- Maniglia finestra- : AT0-1P; AT0-1V;
Manilla (ventanal TA70-2P
JE} —@9— Object name FR70-5353 Page 2/4



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
2/4

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
EaE1-1

AutoCAD SHX Text
Eave edging- Dachrandbrett- Madrier en bordure du toit- Tavola bordo

AutoCAD SHX Text
tetto- Tabla de valadizo

AutoCAD SHX Text
4

AutoCAD SHX Text
16x95

AutoCAD SHX Text
3350

AutoCAD SHX Text
FaB9-1

AutoCAD SHX Text
Facia board wavy-Giebelblende.geschwun- gen-Écran

AutoCAD SHX Text
frontal.arqué-Schermo frontone.curvo- Tabla de facia ondulada

AutoCAD SHX Text
4

AutoCAD SHX Text
16x120

AutoCAD SHX Text
3190

AutoCAD SHX Text
FaB3-1

AutoCAD SHX Text
Facia board- Giebelblende- Écran frontal- Schermo frontone- Tabla de

AutoCAD SHX Text
facia

AutoCAD SHX Text
4

AutoCAD SHX Text
16x120

AutoCAD SHX Text
3190

AutoCAD SHX Text
FlB2-1

AutoCAD SHX Text
Floor beading- Fussbodenleiste- Baguette du plancher- Listello

AutoCAD SHX Text
pavimento- Listón de suelo

AutoCAD SHX Text
8

AutoCAD SHX Text
19x19

AutoCAD SHX Text
2478

AutoCAD SHX Text
RE2-1

AutoCAD SHX Text
Roof edge reinforcement- Dachrandleiste- Baguette en bordure du toit-

AutoCAD SHX Text
Rinforzo bordo tetto- Refuerzo borde tejado

AutoCAD SHX Text
2

AutoCAD SHX Text
32x40

AutoCAD SHX Text
2900

AutoCAD SHX Text
RE2-2

AutoCAD SHX Text
Roof edge reinforcement- Dachrandleiste- Baguette en bordure du toit-

AutoCAD SHX Text
Rinforzo bordo tetto- Refuerzo borde tejado

AutoCAD SHX Text
2

AutoCAD SHX Text
32x40

AutoCAD SHX Text
3800

AutoCAD SHX Text
Sis1-1

AutoCAD SHX Text
Side slat- Randleiste- Baguette en bordure- Listón de borde- Listello

AutoCAD SHX Text
bordo

AutoCAD SHX Text
4

AutoCAD SHX Text
19x70

AutoCAD SHX Text
846

AutoCAD SHX Text
Sis1-2

AutoCAD SHX Text
Side slat- Randleiste- Baguette en bordure- Listón de borde- Listello

AutoCAD SHX Text
bordo

AutoCAD SHX Text
12

AutoCAD SHX Text
19x70

AutoCAD SHX Text
1072

AutoCAD SHX Text
Sis1-3

AutoCAD SHX Text
Side slat- Randleiste- Baguette en bordure- Listón de borde- Listello

AutoCAD SHX Text
bordo

AutoCAD SHX Text
2

AutoCAD SHX Text
19x70

AutoCAD SHX Text
1254

AutoCAD SHX Text
Sis2-1

AutoCAD SHX Text
Side slat- Randleiste- Baguette en bordure- Listón de borde- Listello

AutoCAD SHX Text
bordo

AutoCAD SHX Text
4

AutoCAD SHX Text
19x95

AutoCAD SHX Text
986

AutoCAD SHX Text
Sis2-2

AutoCAD SHX Text
Side slat- Randleiste- Baguette en bordure- Listón de borde- Listello

AutoCAD SHX Text
bordo

AutoCAD SHX Text
2

AutoCAD SHX Text
19x95

AutoCAD SHX Text
1394

AutoCAD SHX Text
Fim

AutoCAD SHX Text
-Fixing kit- Befestigungsset- Moyens de fixation- Materiale di fissaggio-

AutoCAD SHX Text
Kit de fijación

AutoCAD SHX Text
1

AutoCAD SHX Text
QULSI

AutoCAD SHX Text
30x35

AutoCAD SHX Text
Cylinder- Zylinderschloss- Serrure a mortaiser- Serratura a cilindro-

AutoCAD SHX Text
Bombin- 30.35

AutoCAD SHX Text
1

AutoCAD SHX Text
QLIU

AutoCAD SHX Text
KAPal

AutoCAD SHX Text
Door fittings- Türbeschlag- Ferrure- Ferramenta porta- Manilla puerta-

AutoCAD SHX Text
QLIUKAPal

AutoCAD SHX Text
1

AutoCAD SHX Text
QRV1

AutoCAD SHX Text
60Zn

AutoCAD SHX Text
Keeper- Schliessblech- Tole- Lamiera- Aldaba de candado- 160Zn

AutoCAD SHX Text
1

AutoCAD SHX Text
QNA1_

AutoCAD SHX Text
4x40Me

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 1.4x40mm

AutoCAD SHX Text
40

AutoCAD SHX Text
QNA2_

AutoCAD SHX Text
2x50Zn

AutoCAD SHX Text
Nail- Nagel- Clou- Chiodo- Clavo- 2.5x50mm

AutoCAD SHX Text
1200

AutoCAD SHX Text
QKRPP3

AutoCAD SHX Text
_5x40Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3.5x40mm

AutoCAD SHX Text
130

AutoCAD SHX Text
QKRPP

AutoCAD SHX Text
3x16Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3x16mm

AutoCAD SHX Text
2

AutoCAD SHX Text
QKRPP

AutoCAD SHX Text
3x20Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 3x20mm

AutoCAD SHX Text
36

AutoCAD SHX Text
QKRPP4

AutoCAD SHX Text
_5x50Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x50mm

AutoCAD SHX Text
200

AutoCAD SHX Text
QKRPP4

AutoCAD SHX Text
_5x70Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 4.5x70mm

AutoCAD SHX Text
20

AutoCAD SHX Text
QKRPP

AutoCAD SHX Text
5x90Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 5x90mm

AutoCAD SHX Text
4

AutoCAD SHX Text
QKRPP6

AutoCAD SHX Text
x120Zn

AutoCAD SHX Text
Screw- Schraube- Vis- Vite- Tornillo- 6x120mm

AutoCAD SHX Text
16

AutoCAD SHX Text
QLIA

AutoCAD SHX Text
Window fittings- Fenstergriff- Poigne de la fenétre- Maniglia finestra-

AutoCAD SHX Text
Manilla (ventana)

AutoCAD SHX Text
3

AutoCAD SHX Text
USE

AutoCAD SHX Text
TU70-2P

AutoCAD SHX Text
TU70-2P

AutoCAD SHX Text
TU70-2P

AutoCAD SHX Text
FlB2-1

AutoCAD SHX Text
FB2-1; RB2-1

AutoCAD SHX Text
EaE; FaB; RE;...

AutoCAD SHX Text
A70-1P; A70-1V;

AutoCAD SHX Text
TA70-2P; TU70-2P

AutoCAD SHX Text
Sisx-x

AutoCAD SHX Text
001; 009; 017; 019; PRx

AutoCAD SHX Text
TU70-2P

AutoCAD SHX Text
ARx

AutoCAD SHX Text
A70-1P; A70-1V;

AutoCAD SHX Text
TA70-2P


Pos SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Des Profile | Length
FR70-5353 (mm) (mm)
Threaded rod- Gewindestangen- Barre filtée- Asta filettata- Varjll3
KL1 QT T A 2000
roscada M10
Threaded rod- Gewindestangen- Barre filtee- Asta filettata- Varjlla
KL? QI T T T T A 2718
roscada M10
Nut- Schraubenmutter- Ecrou- Dado- Tuerca- M10mm L KLx
Washer- Dichfscheibe- Joint- Rondella- Arandela- 10x30mm L KLx
Extension nut- Verlangerungsmutter- Ferou rallonge- Dado di prolunga-
Tuerca de extension- JM10 @ |t Lx
Captive nut- Einschlagmutter- Fcrou a griffes- Dade a ragno fileffatura-
Tuerca arana- LM10 @ " Lx
Window - Fenster - Fenefre - Finesfra-Ventana 882x1044 1
Sis2-x
AT0-1P
< < T66x906mm
Sis1-x
Window - Fenster - Fenefre - Finesfra-Ventana 882x1044 1
SisZ-x
AT0-1V
< < T66x906mm
Sis1-x
Window - Fenster - Fenetre - Finestra-Ventana 1290x1044 1
Sis2-x
TAT0-2P
< < 1174x906mm
Sis1-x
JE} —69— Object name FR70-5353 Page 3/4



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
3/4

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod- Gewindestangen- Barre filtée- Asta filettata- Varilla

AutoCAD SHX Text
roscada M10

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod- Gewindestangen- Barre filtée- Asta filettata- Varilla

AutoCAD SHX Text
roscada M10

AutoCAD SHX Text
4

AutoCAD SHX Text
278

AutoCAD SHX Text
Nut- Schraubenmutter- Écrou- Dado- Tuerca- M10mm

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer- Dichtscheibe- Joint- Rondella- Arandela- 10x30mm

AutoCAD SHX Text
4

AutoCAD SHX Text
Extension nut- Verlängerungsmutter- Écrou rallonge- Dado di prolunga-

AutoCAD SHX Text
Tuerca de extensión- JM10

AutoCAD SHX Text
4

AutoCAD SHX Text
Captive nut- Einschlagmutter- Écrou a griffes- Dado a ragno filettatura-

AutoCAD SHX Text
Tuerca arana- LM10

AutoCAD SHX Text
4

AutoCAD SHX Text
Sis2-x

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
766x906mm

AutoCAD SHX Text
A70-1P

AutoCAD SHX Text
Window - Fenster - Fenetre - Finestra-Ventana 882x1044

AutoCAD SHX Text
1

AutoCAD SHX Text
Sis2-x

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
766x906mm

AutoCAD SHX Text
A70-1V

AutoCAD SHX Text
Window - Fenster - Fenetre - Finestra-Ventana 882x1044

AutoCAD SHX Text
1

AutoCAD SHX Text
Sis2-x

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
Sis1-x 

AutoCAD SHX Text
1174x906mm

AutoCAD SHX Text
TA70-2P

AutoCAD SHX Text
Window - Fenster - Fenetre - Finestra-Ventana 1290x1044

AutoCAD SHX Text
1

AutoCAD SHX Text
KLx

AutoCAD SHX Text
KLx

AutoCAD SHX Text
KLx

AutoCAD SHX Text
KLx


SPECIFICATION-STUCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATION Profile Length
Pos Pcs
FR70-5353 (mm) (mm)
Boor - Tur - Porte - Porta-Puerta 1610x1900 1
N | H { k
| i | 1510x1831mm
TUT0-2P
i i i
i i
[ L] [
= & Object name FR70-5353 Page 4/4



AutoCAD SHX Text
Object name

AutoCAD SHX Text
Page

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
4/4

AutoCAD SHX Text
Pos

AutoCAD SHX Text
SPECIFICATION-STÜCKLISTE-NOMENCLATURE-ELEMENTI-ESPECIFICATIÓN

AutoCAD SHX Text
FR70-5353

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
1510x1831mm

AutoCAD SHX Text
TU70-2P

AutoCAD SHX Text
Door - Tür - Porte - Porta-Puerta 1610x1900

AutoCAD SHX Text
1


6700

4960

70

1400

5300

4960

129x104.4

88.2x104 .4

24.60m2

88.2x10L.4




5080

5080

80

T M T 75k
w | e w |
X &= 1= & X &= & X
<t <t <C <t <t <t <C <t
AR?




" 2 o8~ 008 07 T
= = 005
[l
012 17
012 012
012 012
012 012 =
012 7
012 012
012 o 012
012 * 012
010
010
010
010
010
10 Slat
475 1620 475 890 305
70 100
5030 |
5300




KL1+KL2

g D _—TJos~_ 008

= 005

960

5030

5300

KL1+KL2




Wall A T

6700

14,00 200
200
f H 017
i HT 06
H 015 H | 014
13 H 0th ot
12 | H 014 H | 014
1 H = ot
10 H T ot
g H 01h 0t
8 H 0th ot
T H 0th 1 ot
6 H 0B
5 H 0B
i H H 0B
3 H 0B
2 H H 0B
1 1 0105
1830 1300 1830
10D 70 70100
| 5030 |
5300

2160




Wall B T

6700

1400

200

]

S,NWSUIoN—Io WV

[T T T T T T TTTTTTI
o
=
s

4960

]
=

5030

©r

5300

2160




*

*

*

*

*

*

5x90

The specification may vary depending on the specific model.
Die Spezifikation kdnnen je nach Modell unterschiedlich sein.
Les spécifications peuvent varier selon le modéle spécifigue.
Dependiendo del modelo, la especificacion puede cambiar.

Le specifiche possono variare a seconda del modello.

Tekniset fiedot voivat vaihdella mallista riippuen.

Specifikationen kan variera beroende pa den specifika modellen.

4.5x70

2,5x16
2x2 pcs

3x20

5x90 \_




	1. kontrleht FR-EL-PAV-maja eng-ger-fra-ita-esp-nl-no-dk-fi-se
	3. esileht FR-maja eng-ger-fra-ita-esp-no-nl-cz-fi-se



